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Kitty has swim pructice ln 2 and
a half hours. It is 8:45. What
time is practlce?

AJ has $AA43. Kuren has $517-
How much money do they have
altogether?
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Mortln had 423 pencl\s He gave |l

261toa friend. How many pencils |

did he have left? _X
=
1
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wendy has 5 rose pbushes T with 4 -
roses on each bush. She gave 4 !
roses to her teacher. How many !
o
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There were 70 cars in the parking 1I|
lot. How many tires were there im0
the porking lot? )
]
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Cut out each strip below. Glue the start strip in the top
rectangle to the left. Then solve the problem on that
strip. Next, find the strip with the answer in the star.

Glue that one in the next rectangle. Continue until you
WORD PROBLEMS

have arrived at the “finish” strip.

Jan baked 6 by 3 rows of
cookies. How many cookies did
she bake?

11 cookies or 18 cookies

Alex drew a pentagon and a E
rectangle. How many sides are 1
there altogether? ]
9 sides or 15 sides H

Amy bought 2 water bottles. Bill :
bought 4 and Elle bought 5. How 1
many did they buy altogether? ]
11 water bottles or 20 water bottles- |

May left her house at 8:00 a.m. It
takes 30.-minutes to get to
sehool. What time will she
arrive? 9:00 or 8:30

Jill baked 20 muffins for her i
birthday party. Her brother ate 5 :
muffins. How.many does she |
have left? 5 or 15 !

Ed filled up 5 glasses of water.
Each glass contains 300mL. How
many mL did he pour altogether?
1,500mL or 24mL

You DD IT! |
FiNiSHEeD =

Andy has a new garden. The :
garden box is 6ft long and 4ft 1
wide. What is the area? :
241t2 or 20ft2 H

Mr. Kim bought 4 pizzas, 10 slices
each, for his class. Each student
will get 2 slices. How many
students are in his class? 24 or 20

If a bead is ¥4 of an inch and i
another is %2 an inch, how long 1
are they altogether? i
3% inch or 9 inches 1
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Cut out each strip below. Glue the start strip in the top
rectangle to the left. Then solve the problem on that
strip. Next, find the strip with the answer in the star.

Glue that one in the next rectangle. Continue until you
WORD PROBLEMS

have arrived at the “finish” strip.

John baked 6 cakes with 3 layers
each. Katy baked & cakes with 2
layers each. How many layers
did they bake altogether?

You Dip IT!
FiNiSHEeD

Carlos ate 14 of the cookies. There
were 36 cookies. How many
cookies did he eat?

-

Two elephants and a polar bear ar
on the back of a truck. How much !

mass are they total? I
1 Elephant=6,000kg 1 polar bear=400kg :

Kitty has swim practice in 2 and
a half hours. It is 8:45. What
time is practice?

Wendy has 5 rose bushes with 4
roses on each bush. She gave 4
roses to her teacher. How many
roses are left?

AJ has $443. Karen has $517.
How much money do they have
altogether?

Martin had 423 pencils. He gave
261 to a friend. How many pencils
did he have left?

There were 70 cars in the parking
lot. How many tires were there in
the parking lot?

Sue needed to get to school in 3
hours and 45 minutes for her
conference. It was 2:45. What
time was her conference?
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Cut out each strip below. Glue the start strip in the top
rectangle to the left. Then solve the problem on that
strip. Next, find the strip with the answer in the star.

Glue that one in the next rectangle. Continue until you
WORD PROBLEMS

have arrived at the “finish” strip.

You Dip IT!

Zoe saved $294. She saved half
of it in the bank and she spent
$35 on a backpack. How much
does she have left?

John needs grass for 2 patches in :
the yard. One patch is 6ft by 3ft. 1
The other is 12ft by 2ft. How many ]
square feet of grass does he need?_:

Dan drew 7 hexagons, 5
rhombuses and 2 right triangles.
How many sides are there
altogether?

Liz baked 1 pans of cookies."The
pans held 7 rows of cookies with
7 cookies in.each row. How many
cookies did she bake?

/N Rick went out to eat. He spent $501
dollars. Find 1/5 of $50. Then add 1
that to the cost to pay a tip. What

1
Jack waited in the ice cream :
parlor line from 2:25 to 3:12. How H
many minutes did he wait? :

The 3rd grade grew strawberries.
Mr. Gomez'’s class grew 387. Mrs.
White's class grew 721. What’s the
difference?

Sarah poured 10 mugs of water.

About how much L did she pour?
1 mug=300mL

A polar bear weighs about 400 kg.
If a polar bear’s mass is %4 of a
giraffe’s mass, how many kg is a
giraffe?
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